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Il Semester 3 Year LL.B./V Semester 5 Year B.A.,LL.B. (Maj.-min. System)/
B.B.A.LL.B./B.Com. LL.B. Examination, Oct./Nov. 2021

CONTRACT - Il (Special Contract)

Duration : 3 Hours Max. Marks : 80

Instructions : 1. Answer any five Questions from group (a) each

Q. No. 1.

Q. No. 1.

Q. No. 2.

Q. No. 2.

b)

a)

b)

question carries 10 marks.

2. Answer any five Questions from group (b) each
question carries 6 marks.

3. Answers should be written either in English or Kannada
completely.

Define contract of guarantee and write the difference
between contract of guarantee and indemnity. Marks : 10
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Write a short note on “Rights of the Surety”. Marks : 6
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Define contract of Indemnity. Explain the rights of
indemnity holder. Marks : 10
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‘A’ pays to ‘B’ a minor, Rs. 2,00,000/- on the guarantee

of ‘C’. ‘A’ on demand for repayment from ‘B’. ‘B’ refuses

to pay on the ground of his minority can ‘A’ recover the

amount from ‘C’ ? Decide. Marks : 6
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Q. No. 3. a)

Q. No. 3. b)

Q. No. 4. a)

Q. No. 4. b)

Q. No. 5. a)

Q. No. 5. b)

Define Bailment. Explain the features of Bailment with

decided cases. Marks : 10
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Write a short note on “Rights of Bailor”. Marks : 6
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What is pledge ? Who can make a valid pledge ? Explain. Marks : 10
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‘A’ hires a horse carriage of ‘B’. The horse is unsound,

But ‘B’ is not aware of it. ‘A’ is injured while using that

horse carriage. Is ‘B’ responsible to ‘A’ for the injury ?

Decide. Marks : 6
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Explain the right and duties of Agent. Marks : 10
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Write a short notes on Sub-Agent and Substituted Agent. Marks : 6
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Q. No. 6. a)

Q. No. 6. b)

Q. No. 7. a)

Q. No. 7. b)

Q. No. 8. a)

Q. No. 8. b)

Explain the modes of termination of Agency.
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‘A’ an agent of ‘B’, sells the goods to ‘C’ without making
proper enquiry as to the solvency of ‘C’. At the time of
sale ‘C’ was an insolvent. principal ‘B’ wants to recover
the goods from ‘C’. Can he succeed ?
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Discuss the mutual rights and liabilities between the
partners of a firm.
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Write short note on effects of non-registration of
partnership firm.
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Explain the different grounds on which a firm is dissolved
by the order of a.court.
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Ganesh and Uday agreed to invest 2 :1 to start a firm.
They earned a profit of Rs. 3,00,000 in a year. How they
can share the profit among themselves ?
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Marks : 10

Marks : 6

Marks : 10

Marks : 6

Marks : 10

Marks : 6
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Q. No. 9. a)

Q. No. 9. b)

Q. No. 10. a)

Q. No. 10. b)

Who is unpaid seller ? Marks : 10
BED ROTIWOTING BROLMS 03RTy ?

Right of stoppage-in-transit. Marks : 6
SN d:q%de‘;ﬁ 3BHLEBOI0S 55%.

Explain implied conditions provided under Sale of
Goods Act. Marks : 10
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A seller undertakes to supply 100 tons of Rice of the kind

shown as sample. The Rice when supplied, did not

correspond or similar to one showned as sample. Has

the buyer any remedy against the seller ? Marks : 6
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